



(Print)

Section A

(Online)



Estd. 1989

JOURNAL OF ULTRASCIENTIST OF PHYSICAL SCIENCES
 An International Open Free Access Peer Reviewed Research Journal of Mathematics
 website:- www.ultrascientist.org

A Extension of Fixed Point Theorem in Banach Space

SATYENDRA SINGH¹, VINOD KUMAR², and AJAY KUMAR SHARMA³

¹Department of Mathematics, Paliwal (P.G.) College, Shikohabad (U.P)

²Department of Mathematics, Chintamani College of Science Pombhurna Dist. Chandrapur (M.H) India,

³Dept. of Mathematics, Mahatma Gandhi College of Science Gadchandur Chandrapur (M.H)

Corresponding author Email-vinodsingh.shibu@gmail.com

<http://dx.doi.org/10.22147/jusps-A/300703>

Acceptance Date 23th June, 2018,

Online Publication Date 2nd July, 2018

Abstract

The object of the present paper is to extend the fixed point theorem of previous authors.

Key word: Common fixed point, Fixed point and non contracting point Metric Space, Banach Space.

Subject Classification Code: 46.2X 40-58

Introduction

Let C be a closed subset of a Banach Space X . The well known Banach contraction principle states that a contraction mapping of C into itself has a unique fixed point. The same conclusion holds if we assume that only some positive power of mapping are contraction (e.g. Bryant¹). But it is not true for non-expansive mappings. Goebel and Zlotkiewicz² have proved this problem in applying some restriction. The purpose of this paper is to generalize the result of Goebel and Zlotkiewicz² and others, for mappings satisfying more general conditions. Now we prove the following theorem for four mappings.

Theorem Let K be a non empty closed convex subset of a Banach Space, let E, F, G, H, T be a mapping of K into itself such that :

- (i) $E^2 = I, F^2 = I, G^2 = I, H^2 = I, T^2 = I$
- (ii) $EF = FE, EG = GE, EH = HE, ET = TE, FG = GF, FH = HF, FT = TF, GH = HG, GT = TG, HT = TH$.

Main Results

Theorem 1 : Let K be a closed convex subset of a Banach space X and let E, F, G and H be mappings of K into itself, such that

This is an open access article under the CC BY-NC-SA license (<https://creativecommons.org/licenses/by-nc-sa/4.0>)

$$(i) \quad E^2 = I, F^2 = I, G^2 = I, H^2 = I \quad (1)$$

$$(ii) \quad EF = FE, EG = GE, EH = HE, FG = GH, FH = HF, GH = HG \quad (2)$$

$$(iii) \quad \|Ex - Ey\| \leq a_1 \|FGHx - FGHy\| + a_2 \|FGHx - Ex\| + a_3 \|FGHy - Ey\| \\ + a_4 \|FGHx - Ey\| + a_5 \|FGHy - Ex\| + a_6 \frac{\|FGHx - Ex\| \cdot \|FGHy - Ey\|}{\|FGHx - FGHy\|} + a_7 \\ \frac{\|FGHx - Ey\| \cdot \|FGHy - Ex\|}{\|FGHx - FGHy\|} \text{ for every } x, y \in X, x \neq y \text{ and } a_i > 0, i = 1, 2 \dots 7 \quad (3)$$

such that

$$a_1 + 2a_2 + 2a_3 + 2a_4 + 2a_5 + 4a_6 + 3a_7 < 2, \text{ and } a_1 + a_4 + a_5 + a_7 < 1.$$

Then there exist at least one fixed point $x_0 \in K$, such that $Ex_0 = FG Hx_0$, $Hx_0 = EFGx_0$ and x_0 is also a unique common fixed point of E, F, G and H .

We require that following lemma – I for the proof of the theorem-I

Lemma I :

Let E be a mapping of a Banach space X into it self such that,

$$(i) \quad E^2 = I \quad (4)$$

$$(ii) \quad \|Ex - Ey\| \leq a_1 \|x - y\| + a_2 \|x - Ex\| + a_3 \|y - Ey\| + a_4 \|x - Ey\| + a_5 \|y - Ex\| \\ + a_6 \frac{\|x - Ex\| \cdot \|y - Ey\|}{\|x - y\|} + a_7 \frac{\|x - Ey\| \cdot \|y - Ex\|}{\|x - y\|} \quad (5)$$

for every $x, y \in X$, and $x \neq y$. $0 \leq a_1, a_2, a_3, a_4, a_5, a_6, a_7$ and $a_1 + 2a_2 + 2a_3 + 2a_4 + 2a_5 + 4a_6 + 3a_7 < 2$ and $a_1 + a_4 + a_5 + a_7 < 1$. Then E has at least one fixed point.

Proof :

Let x be an arbitrary point of X and taking $y = \frac{1}{2}(E + I)x$, $z = Ey$, $u = 2y - z$, then (i) and (ii) we have

$$\|Ex - y\| = \frac{1}{2} \|x - Ex\|$$

$$\& \|x - y\| = \frac{1}{2} \|Ex - x\|$$

$$\therefore \|z - x\| = \|Ey - E^2x\| \leq a_1 \|y - Ex\| + a_2 \|y - Ey\| + a_3 \|Ex - E^2x\|$$

$$+ a_4 \|y - E^2x\| + a_5 \|Ex - Ey\| + a_6 \frac{\|y - Ey\| \cdot \|Ex - E^2x\|}{\|y - Ex\|}$$

$$+ a_7 \frac{\|y - E^2x\| \cdot \|Ex - Ey\|}{\|y - Ex\|}$$

$$= a_1 \|y - Ex\| + a_2 \|y - Ey\| + a_3 \|Ex - x\| + a_4 \|y - x\| + a_5 \|Ex - Ey\|$$

$$+ a_6 \frac{\|y - Ey\| \cdot \|Ex - x\|}{\|y - Ex\|} + a_7 \frac{\|y - x\| \cdot \|Ex - Ey\|}{\|y - Ex\|}$$

$$\begin{aligned}
&= a_1 \| \frac{1}{2} (E + I) x - Ex \| + a_2 \| y - Ey \| + a_3 \| Ex - x \| + a_4 \| \frac{1}{2} (E + I) x - x \| \\
&+ a_5 [\| Ex - y \| + \| y - Ey \|] + a_6 \frac{\| y - Ey \| \cdot \| Ex - x \|}{\| \frac{1}{2} (E + I) x - Ex \|} \\
&+ a_7 \frac{\| \frac{1}{2} (E + I) x - x \| \cdot [\| Ex - y \| + \| y - Ey \|]}{\| \frac{1}{2} (E + I) x - Ex \|} \\
&= a_1/2 \| x - Ex \| + a_2 \| y - Ey \| + a_3 \| Ex - x \| + a_4/2 \| Ex - x \| + a_5 [\frac{1}{2} \| Ex - x \| \\
&+ \| y - Ey \|] + 2 a_6 \| y - Ey \| + a_7 [\frac{1}{2} \| x - Ex \| + \| y - Ey \|] \\
&= (a_1/2 + a_3 + a_4/2 + a_5/2 + a_7/2) \| x - Ex \| + (a_2 + a_5 + 2a_6 + a_7) \| y - Ey \| \quad (6) \\
\text{Now } \| u - x \| &= \| 2y - z - x \| = \| (E + I) x - Ey - x \| = \| Ex - Ey \| < a_1 \| x - y \| \\
&+ a_2 \| x - Ex \| + a_3 \| y - Ey \| + a_4 \| x - Ey \| + a_5 \| y - Ex \|
\end{aligned}$$

$$\begin{aligned}
&+ a_6 \frac{\| x - Ex \| \cdot \| y - Ey \|}{\| x - \frac{1}{2} (E + I) x \|} + a_7 \frac{[\| x - y \| + \| y - Ey \|] \cdot \| \frac{1}{2} (E + I) x - Ex \|}{\| x - \frac{1}{2} (E + I) x \|} \\
&= a_1/2 \| Ex - x \| + a_2 \| x - Ex \| + a_3 \| y - Ey \| + a_4 [\frac{1}{2} \| x - Ex \| + \| y - Ey \|] \\
&+ a_5/2 \| x - Ex \| + 2a_6 \| y - Ey \| + a_7 [\frac{1}{2} \| x - Ex \| + \| y - Ey \|] \\
&= (a_1/2 + a_2 + a_4/2 + a_5/2 + a_7/2) \| x - Ex \| \\
&+ (a_3 + a_4 + 2a_5 + a_7) \cdot \| y - x \| \quad (7)
\end{aligned}$$

$$\begin{aligned}
&\therefore \| z - u \| \leq \| z - x \| + \| u - x \| \\
&\leq (a_1 + a_2 + a_3 + a_4 + a_5 + a_6 + a_7) \| x - Ex \| + (a_2 + a_3 + a_4 + a_5 + 4a_6 + 2a_7) \| y - Ey \| \quad (8)
\end{aligned}$$

$$\text{Also } \| z - u \| = \| Ey - 2y + z \| = 2 \| y - Ey \| \quad (9)$$

Comparing (8) and (9), we get.

$$2 \| y - Ey \| \leq (a_1 + a_2 + a_3 + a_4 + a_5 + a_7) \| x - Ex \| + (a_2 + a_3 + a_4 + a_5 + 4a_6 + 2a_7) \| y - Ey \|$$

$$\text{Or } \| y - Ey \| \leq q \| x - Ex \|, \text{ where } q = \frac{a_1 + a_2 + a_3 + a_4 + a_5 + a_7}{2 - a_2 - a_3 - a_4 - a_5 - a_6 - 2a} < 1$$

Let $G = 1/2 (E + I)$, then for any $x \in X$, $\| G^2x - Gx \| = \| Gy - y \|$
 $= \| 1/2 (E + I) y - y \| = 1/2 \| y - Ey \| \leq q/2 \| x - Ex \|$
 $= q/2 \| x - (2Gx - x) \| = q \| Gx - x \|$

By definition of q , we claim that $\{G^n x\}$ is a cauchy sequence in X . By completeness, $\{G^n x\}$ converges to some element x_0 in X .i.e.

Lim $G^n x = x_0$. This implies $G x_0 = x_0$. Hence $E x_0 = x_0$ i.e. x_0 is a $n \rightarrow \infty$ fixed point of E .

For the uniqueness, if possible $y_0 (\neq x_0)$ be another fixed point of E .

$$\begin{aligned}
&\text{Then } \| x_0 - y_0 \| = \| Ex_0 - Ey_0 \| \\
&\leq a_1 \| x_0 - y_0 \| + a_2 \| x_0 - Ex_0 \| + a_3 \| y_0 - Ey_0 \| + a_4 \| x_0 - Ey_0 \| + a_5 \| y_0 - Ex_0 \| \\
&+ a_6 \frac{\| x_0 - Ex_0 \| \cdot \| y_0 - Ey_0 \|}{\| x_0 - y_0 \|} + a_7 \frac{\| x_0 - Ey_0 \| \cdot \| y_0 - Ex_0 \|}{\| x_0 - y_0 \|} \\
&\therefore (1 - a_1 - a_4 - a_5 - a_7) \| x_0 - y_0 \| \leq 0
\end{aligned}$$

$\therefore x_0 = y_0$

Hence the result

Proof of theorem – I :

From (1) and (2), it follows that $(EFGH)^2 = I$ and (2) & (3), we have

$$\begin{aligned} & \|EFGH.Fx - EFGH.Fy\| \leq a_1 \|(FGH)^2.Fx - (FGH)^2.Fy\| \\ & + a_2 \|(FGH)^2.Fx - EFGH.Fx\| + a_3 \|(FGH)^2.Fy - EFGH.Fy\| \\ & + a_4 \|(FGH)^2.Fx - EFGH.Fy\| + a_5 \|(FGH)^2.Fy - EFGH.Fx\| \\ & + a_6 \frac{\|(FGH)^2.Fx - EFGH.Fx\| \cdot \|(FGH)^2.Fy - EFGH.Fy\|}{\|(FGH)^2.Fx - (FGH)^2.Fy\|} \\ & + a_6 \frac{\|(FGH)^2.Fx - EFGH.Fy\| \cdot \|(FGH)^2.Fy - EFGH.Fx\|}{\|(FGH)^2.Fx - (FGH)^2.Fy\|} \end{aligned}$$

Now if we put $Fx = z$ and $Fy = w$, we get

$$\begin{aligned} & \|EFGH.z - EFGH.w\| \leq a_1 \|z - w\| + a_2 \|z - EFGH.z\| \\ & + a_3 \|w - EFGH.w\| + a_4 \|z - EFGH.w\| + a_5 \|w - EFGH.z\| \\ & + a_6 \frac{\|z - EFGH.z\| \cdot \|w - EFGH.w\|}{\|z - w\|} + a_7 \frac{\|z - EFGH.w\| \cdot \|w - EFGH.z\|}{\|z - w\|} \end{aligned}$$

Where $(FGH)^2 = I$, then by lemma-1, we get EFGH have at least one fixed point say x_0 in X .i.e.

$$EFGH x_0 = x_0 \tag{10}$$

$$FGH (EFGH) x_0 = FGH x_0 \text{ or } Ex_0 = FGH x_0 \tag{11}$$

$$\text{Also } H (EFGH) x_0 = H x_0 \text{ or } EFG x_0 = H x_0 \tag{12}$$

Now using (1), (2), (3) and (10), (11), (12) we have

$$\begin{aligned} & \|Hx_0 - x_0\| = \|EFG x_0 - E^2 x_0\| = \|EFG x_0 - E.E x_0\| \\ & \leq a_1 \|FGH.FGx_0 - FGH.Ex_0\| + a_2 \|FGH.FGx_0 - EFGx_0\| \\ & + a_3 \|FGH.Ex_0 - E.Ex_0\| + a_4 \|FGH.FGx_0 - EFGx_0\| \\ & + a_5 \|FGH.Ex_0 - EFGx_0\| \\ & + a_6 \frac{\|FGH.FGx_0 - EFGx_0\| \cdot \|FGH.Ex_0 - E.Fx_0\|}{\|FGH.FGx_0 - FGH.Ex_0\|} \\ & + a_7 \frac{\|FGH.FGx_0 - EFGx_0\| \cdot \|FGH.Ex_0 - E.FGx_0\|}{\|FGH.FGx_0 - FGH.Ex_0\|} \\ & = a_1 \|Hx_0 - x_0\| + a_2 \|Hx_0 - Hx_0\| + a_3 \|x_0 - x_0\| + a_4 \|Hx_0 - x_0\| + a_5 \|x_0 - Hx_0\| \\ & + a_6 \frac{\|Hx_0 - H^2 x_0\| \cdot \|x_0 - x_0\|}{\|Hx_0 - x_0\|} + a_7 \frac{\|Hx_0 - x_0\| \cdot \|x_0 - Hx_0\|}{\|Hx_0 - x_0\|} \\ & = (a_1 + a_4 + a_5 + a_7) \|Hx_0 - x_0\| \end{aligned}$$

since $a_1 + a_4 + a_5 + a_7 < 1$, it follows that $Hx_0 = x_0$, i.e. x_0 is the fixed point of H . Then we have from (11)

$$\& (12) Ex_0 = FGx_0 \quad (13)$$

$$\text{and } EFGx_0 = x_0 \quad (14)$$

$$FG(EFGx_0) = FGx_0 \text{ or } Ex_0 = FGx_0 \quad (15)$$

$$G(EFGx_0) = Gx_0 \text{ or } EFGx_0 = Gx_0 \quad (16)$$

Now using (1), (2), (3), (13), (16), we have

$$\begin{aligned} & \|Gx_0 - x_0\| = \|EFx_0 - E^2x_0\| = \|EFx_0 - EEx_0\| \\ & \leq a_1 \|FGH.Fx_0 - FGH.Ex_0\| + a_2 \|FGH.Fx_0 - EFx_0\| \\ & + a_3 \|FGHFx_0 - EEx_0\| + a_4 \|FGH.Fx_0 - EEx_0\| \\ & + a_5 \|FGH.Ex_0 - EFx_0\| \\ & + a_6 \frac{\|FGH.Fx_0 - E.Fx_0\| \cdot \|FGH.Ex_0 - E.Ex_0\|}{\|FGH.Fx_0 - FGH.Ex_0\|} \\ & + a_7 \frac{\|FGH.Fx_0 - E.Ex_0\| \cdot \|FGH.Ex_0 - E.Fx_0\|}{\|FGH.Fx_0 - FGH.Ex_0\|} \\ & = a_1 \|Gx_0 - x_0\| + a_2 \|Gx_0 - Gx_0\| + a_3 \|x_0 - x_0\| + a_4 \|Gx_0 - x_0\| + a_5 \|x_0 - Gx_0\| \\ & + a_6 \frac{\|Gx_0 - Gx_0\| \cdot \|x_0 - x_0\|}{\|Gx_0 - x_0\|} \\ & + a_7 \frac{\|Gx_0 - x_0\| \cdot \|x_0 - Gx_0\|}{\|Gx_0 - x_0\|} \\ & = (a_1 + a_4 + a_5 + a_7) \|Gx_0 - x_0\| \end{aligned}$$

since $a_1 + a_4 + a_5 + a_7 < 1$, it follows that $Gx_0 = x_0$, i.e. x_0 is the fixed point of G , so we have from (15).

$$Ex_0 = Fx_0$$

To Prove uniqueness, let us consider y_0 be another Common fixed point of E, F, G and H .

$$\text{Now using } \|x_0 - y_0\| = \|E^2x_0 - E^2y_0\| = \|EEx_0 - E.Ey_0\|$$

$$\begin{aligned} & \leq a_1 \|FGH.Ex_0 - FGH.Ey_0\| + a_2 \|FGH.Ex_0 - EEx_0\| \\ & + a_3 \|FGH.Ey_0 - E.Ey_0\| + a_4 \|FGH.Ex_0 - F.Ex_0\| \\ & + a_5 \|FGH.Ey_0 - E.Ex_0\| + a_6 \frac{\|FGH.Ex_0 - EEx_0\| \cdot \|FGH.Ey_0 - E.Ey_0\|}{\|FGH.Ex_0 - FGH.Ey_0\|} \\ & + a_7 \frac{\|FGH.Ex_0 - EEx_0\| \cdot \|FGH.Ey_0 - EEx_0\|}{\|FGH.Ex_0 - FGH.Ey_0\|} \\ & = a_1 \|x_0 - y_0\| + a_2 \|x_0 - x_0\| + a_3 \|y_0 - y_0\| + a_4 \|x_0 - y_0\| \\ & + a_5 \|y_0 - x_0\| + a_6 \frac{\|x_0 - x_0\| \cdot \|y_0 - y_0\|}{\|x_0 - y_0\|} + a_7 \frac{\|x_0 - y_0\| \cdot \|y_0 - x_0\|}{\|x_0 - y_0\|} \\ & = (a_1 + a_4 + a_5 + a_7) \|x_0 - y_0\|, \text{ a contradiction since } a_1 + a_4 + a_5 + a_7 < 1. \text{ It follows that } x_0 = y_0 \text{ and so} \end{aligned}$$

proving the uniqueness of x_0 . This complete the proof of the theorem.

Remarks

- (i) If we take $H = I$, $a_2 = a_3$, $a_4 = a_5$, $a_6 = a_7 = 0$, we get the resulting Pathak and Maity (6).
- (ii) If we put $H = I$, $a_2 = a_3$, $a_4 = a_5$, $a_6 = a_7 = 0$, we get the result of Jain and Jain (4).
- (iii) If we take $G = H$, $a_2 = a_3$, $a_4 = a_5$, $a_6 = a_7 = 0$, we get the result Sharma and Bajaj (7).
- (iv) On making $F = G = H = I$, $a_2 = a_3$, $a_4 = a_5$, $a_6 = a_7 = 0$, we obtain the result (Corollary 2.2) of Khan and Imdad (5).
- (v) On taking $F = G = H = I$, $a_2 = a_3$, $a_4 = a_5$, $a_6 = a_7 = 0$, we get the result of Iseki (3).
- (vi) On taking $F = G = H = I$, $a_2 = a_3$, $a_4 = a_5$, $a_6 = a_7 = 0$, we get the result due to Goebel and Zlotkiewicz (2).

References

1. Bryant, V.W.; Amer. Math. Monthly, 75, 399–400 (1968) .
2. Goebel, K. and Zlotkiewicz, E.; Colloquium. Math. 23, 103 – 106 (1971).
3. Iseki, K.; Maths., semi, Note Vol. 2, 11 – 13 (1974).
4. Jain, R.K. and Jain, R.; Acta Ciencia Indica. 15, 297 – 300 (1989).
5. Khan, M.S. and Imdad, M.; J. Austral. Math.Soc. 37, 169 – 177 (1984).
6. Pathak, H.K. and Maity, A.R.; Acta Ciencia Indica 17, 137 – 142 (1991).
7. Eslamian, M., General algorithms for split common fixed point problem of demicontractive mappings. Optimization 65(2), 443–465 (2016).
8. M. R. Alfuraidan and M. A. Khamisi, “Caristi fixed point theorem in metric spaces with a graph,” Abstract and Applied Analysis, Vol. 2014, Article ID 303484, 5 pages, 2014.
9. Eslamian, M., Eslamian, P.: Strong convergence of a split common fixed point problem. Numer. Funct. Anal. Optim. 37, 1248–1266 (2016).
10. Elvin Rada, Pure and Applied Mathematics Journal Volume 4, Issue 3, June 2015, Pages: 70-74
11. Karim Chaira and Abderrahim Eladraoui Journal of Mathematics and Mathematical Sciences Volume 2018, Article ID 1471256, 6 pages